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Show all your work!

Mathematical Concepts — Exam 1
MAT 117, Spring 2011 — D. Ivansic
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1. (8pts) Sharon would like to buy a dinner table in the near future. How much should
she deposit now, in an account bearing 5.4% simple interest, in order to have $1500 in seven
s
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months?

2. (10pts) You borrowed $300 from an uncle, and repaid him in 6 months with $314. What

simple annual interest rate did you pay on this loan?
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3. (8pts) William Walker deposits 530,000 into an account bearing 4% interest, compounded

weekly. How much does he have in 3 years?
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4. (14pts) On March 3rd, Ignacio paid $890 for a spring break trip . He put 15% down,
and the rest he financed with a 90-day loan with a simple interest rate of 7%.
a) When is the loan due?

b) If Ignacio makes a partial payment of 5200 on April 20th, how much does he owe on the
due date?
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5. (14pts) The Zhangs would like to save up to add a pool to their home.

a) How much should they deposit every quarter into an account with 3.5% interest, com-
pounded quarterly, in order to have $25.000 in five years?

b) How much of the final amount is from deposits and how much from interest?
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6. (32pts) Wall-E, the trash-collecting robot, wishes to have more room to store his scav-
enged items and decides to have a warehouse built at a cost of $430,000. He finances this
with a 4.65% mortgage, compounded monthly, over 30 vears.

a) What is his montly payment on the loan?

b) What are his total payments over the course of the loan? How much of this amount is

for interest?

¢) How much does he owe after 10 years?
d) How much of his 121st payment (it's the next one after 10 years) goes toward interest,
and how much towards the principal?
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7. (14pts) Betty decided to buy new furniture for her home, for which she will need $12,000.
If she can deposit $200 monthly into an account bearing 8.25%, compounded monthly, how

long will it take until she PHS the desired amount?
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Bonus. (10pts) George deposits $135 every quarter into an account earning 3.4% interest,
compounded quarterly. He does this for three years, then stops making deposits, leaving
the accumulated money in the account. How much does he have five years after he started
making deposits?
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